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BeTrBJ1eHMA ¢ OAHUM JIEMCTBUEM

If ycrnosune then
noewvcrteune 1

Else nencrtsue 2;

HeT

Nnn

If ycrioBune then
nencrteue 1;

If Heycnosue then
NencTeue 2;




BeTBJjIeHUA ¢ HECKOJIBKUMMU
NEeMCTBUAMU

If ycnosue then begin
Ad nencrteue 1;

nencrTeue 2;
end
Else begin
— gencrteue 3;
nencrteue 4;

nencTeue 5;
end;

HeT
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= [lepen onepaTtopom else CTaBUTb ,
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uses crt;
var
x:integer;
hegin
clrscr;
writeln(’ckoabko Bam aetv?’);
readln(x);
if x{=13 then writeln (’peeenok’)
else if x<{=18 then writeln (’noppocrtok’>
else if x<=30 then writeln ('mosopon’)
else if x<{=60 then writeln (’3peawu’)
else writeln C(crapwi’);
- readln;
end.

BriBecTtu oTtBET B

3dBUCUMOCTHU OT

BO3PacCTa.

na




a,b.c.d:integer;
x1.x2:real;

clrscr;
writeln{’BBeauTe KO3OOPUUMUIHT a’);
readlndal;
writeln{’BBeaure K030OUMUUIHT b’);
readln<(hd;
writeln{’BBeauTe KO3OPUUMUIHT c’);
readln{c);
d : =h*h—4x*a*c ;
writeln{’ puckpumuHaur = ’,.d);
if d<0 then writeln (’HeT peweHusn’)
else if d=0 then bhegin
x1:==h/(2%a);
writeln (' x1=’.x1);
end
else begin
x1:=C(—h—sqrtdddd>/(2xa
x2:=C—h+sqrt{dd D> /(2xa
writeln (x1=’_.x1:5:2
writeln {(’x2='_.x2:5:2
end;
readln;
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end.




